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1 The domain of the principle sine function is

2 The range of the principal sine function is

3 The domain of the principle cos function is

4 The domain of the principal tan function is

5 The range of the principle cos function is

6 The range of the principle cot function is
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tan-1(1/4) + tan"1(2/9) is equal to

The value of sin [ arc cos (-1/2)] is
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If 2 tan1(cos X) = tan'1(cosec2x), then xis equal
to
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If cos'1p + cos‘1q + cos~1r =7Tthen p2+ q2+ 2+
2pqr is equal to
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B. 1/2 sin<sup>-1</sup>(3/5)
C. 1/2 tan<sup>-1</sup>(3/5)
D. tan<sup>-1</sup>1/2
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tan~1x > cot T holds for
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The solution set of the equation tan”

= cos‘1(2 - X) is
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tan(cot'x) is equal to

sin[cot‘1{cos(tan'1x)}]:
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Iif tan”13 + tan"1x = tan‘18, then x=

The number of triplets (x, y, z) satisfying sin"x
+cos'1y +sin1z=2mis
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. Cos 4y = cos 2x
Cos 3y = sin 4x
. None of these
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x &lt; 1
x=1
. All values of x
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sin1[-1/2] =

TanM/x=

Sin"1(-x)=

Secx =

The principal value of sin-1V(3/2) is

The principal value of sin”! (-1/2)

The domain of the function y = sin x, is

x=sin! 3, then the value of sin xis

In the interval 0< x < 11, the sine is

The Principal value of sin-1 (-1/1/2)

The value of sin”! 5/13 is equal to

The value of sin-1 24/25 is equal to

The principal value of sin"1[-V(¥3) /2] is

sin (sin"1(1/2))=

Sin -1 x=

sn (2sin-10.8)

sin -1(sin2m/3) =

Sin-1(-x)=
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. sec<sup>-1</sup>X
. None of these
. Cos<sup>-1</sup>1/x

. Cot<sup>-1</sup>X
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. cosec<sup>-1</sup>1/x
. Cos<sup>-1</sup>(-x)
. Tan<sup>-1</sup>x
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. Not a function
. Not defined
. Infinity
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Cos 5/13

cos<sup>-1</sup>5/12
2 cos<sup>-1 </sup>4/5

. csc-1 25/24
. sec-124/25

. 2tan-14/5

51/3
-21/3
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. sin(T1/2-x)
. Sin-1 (11/2-x)

. /2 + cos-1x

0.56
0.69
-0.16

2

-3m/2
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X
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. tan<sup>-1</sup> x

88 sinT x = . Cosec<sup> -1</sup> x
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. cosec<sup>-1</sup>(1/x)

4
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/6

89 What is the value of cos-1(1/2)?
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\3/2
-1/2
12
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90 The value of cos(cos-1 1/2) is

91 What is the value of cos (cos-1 2) ?
0

. 70<sup>o</sup>
50<sup>o</sup>

92 The exact degree value of the function sin-1( -
. 90<sup>o</sup>

V3/2) is
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94 If cos (2 sin-1 x) = 1/9 , then what is the value
of x?

. COS X
. -X
. 1/x
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95 Ifrrsx<21r, then cos-1 (cos x)=

-X
1/x
. tan-1 x

ow>

96 Cos-1 (-x) =

A. cos x

97 Cos-1(x)= )t(an-1 ()
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x=1/x
. COS<Sup>-2</sup> x

98 cos(cos x) =

. tan<sup>-1</sup> 3/5
. cot<sup>-1</sup> 13/12
. Sec<sup>-1</sup> 13/12
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99 Cos112/13 =

100 The exact value of cos-1 (0) is W2
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101 The exact value of cos™! (1) + cos -1 (1) =

102 The domain of the principle sine function is
103 The range of the principal sine function is
104 The domain of the principle cos function is
105 The domain of the principal tan function is
106 The range of the principle cos function is
107 The range of the principle cot function is
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tan1(1/4) + tan”1(2/9) is equal to

The value of sin [ arc cos (-1/2)] is

Question Image

If 2 tan1(cos X) = tan‘1(cose02x), then xis equal

to
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B. 1/2 sin<sup>-1</sup>(3/5)
C. 1/2 tan<sup>-1</sup>(3/5)
D. tan<sup>-1</sup>1/2
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If cos™1p + cos™1q + cos™Tr =TTthen p2+ g2+ r2+
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. Cos 4y = cos 2x
Cos 3y = sin 4x
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. None of these
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The solution set of the equation tan'x - cot-1x

= cos‘1(2 - X) is
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tan(cot'1x) is equal to

sin[cot'1{cos(tan'1x)}]=
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if tan"13 + tan"Tx = tan'18, then x=

The number of triplets (x, y, z) satisfying sin”Tx
+cos‘1y +sin1z=2mis

sin1-1/2] =

Tan'11/x =

sin1(-x)=

Seclx=

The principal value of sin-1v(3/2) is

The principal value of sin” (-1/2)

The domain of the function y = sin x, is

A0, 1]
B. [-1, 1]

D. None of these
A 16/7
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C.-2m < x<2m
D.-1<sx<1
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. sec<sup>-1</sup>X

. Cos<sup>-1</sup>1/x

. Cot<sup>-1</sup>X

. cosec<sup>-1</sup>1/x
Cos<sup>-1</sup>(-x)
Tan<sup>-1</sup>x



178 x = sin"13, then the value of sin x is B.3
D. -1
A. Not a function
In the interval 0< x < T, the sine is B. Not defined
179 -
C. Infinity
A. <p class="MsoNormal">1/2<0:p></0:p></p>

180 The Principal value of sin-1 (-1/1/2) . <p class="MsoNormal">Tr<o:p></0:p></p>

. <p class="MsoNormal">-1r<o:p></0:p></p>

o0

A. Cos 5/13

181 The value of sin"1 5/13 i [
e value of sin™' 5/13 is equal to Cos<sup>-1</sup>5/12

2 cos<sup>-1 </sup>4/5

o0

. csc-125/24
. sec-124/25
. 2tan-14/5
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182 The value of sin-1 24/25 is equal to

5m/3
-21/3
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183 The principal value of sin"1[-V(v3) /2] is
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184 sin (sin”1(1/2))=
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. sin(11/2-x)
185  Sin-1x= . Sin-1 (11/2-x)

. /2 + cos-1x

0.56
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186 sn (2sin-10.8) 016
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187 sin -1(sin2m/3) = -3m/2
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X
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188 Sin-1(-x)=
cos-1 x

tan<sup>-1</sup> x

189 sinT x = Cosec<sup> -1</sup> x
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cosec<sup>-1</sup>(1/x)

190 What is the value of cos-1(1/2)? 2 21/-?/2
D. /6
. B. \3/2
191 The value of cos(cos-1 1/2) is C -1/2
D. 12
A N2
. B. 1/2
192 What is the value of cos (cos-1 2) ?
D.0
A. 70<sup>o</sup>
103 The exact degree value of the function sin-1(-  B. 50<sup>o</sup>
\3/2) is C. 90<sup>o</sup>
A. /2
194 Cos (cosTi/3)= B. /3
D. -11/3
A 1/3
195 If cos (2 sin-1 x) = 1/9 , then what is the value B.-2/3
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[fr<x<2m, then cos-1 (cos x)=

Cos-1 (-x) =

Cos-1(x)=

cos'1(cos X) =

Cos112/13 =

The exact value of cos-1 (0) is

The exact value of cos™ (1) + cos 1 (1) =

v. Z/o

. COS X
-X
L 1/x
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-X
1/x
. tan-1 x
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. COS X
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X
. tan-1(-x)

Cos X
x=1/x
. COS<sup>-2</sup> x

. tan<sup>-1</sup> 3/5
. cot<sup>-1</sup> 13/12
. Sec<sup>-1</sup> 13/12
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